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Homework





1. A boy had £35 in birthday money. He spent some of the money. He saved four times as much as he spent. How much did he save?


 


2. 10 bags of crisps cost £3.50. What is the cost of 6 bags of crisps?





3. £1 = 12.40 Danish kroner. How much is £1.50 in Danish kroner?





4. A square and a rectangle have the same area. The sides of the rectangle are in the ratio 9 : 1. Its perimeter is 20 cm. What is the length of a side of the square?





5. A 365 g packet of coffee costs £2.19. How much per 100 g of coffee is this?





6. Cinema tickets for one adult and one child cost a total of £11.55. The adult’s ticket is one-and-a-half times the price of the child’s ticket. How much does each ticket cost?

















